



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$4^{(-2)} - (-1) =$$

$$(-2)^2 - 4 =$$

$$(-2)^2 - 10 =$$

$$9^2 + 4 =$$

$$(-9)^{(-2)} - (-8) =$$

$$(-10)^{(-1)} - 1 =$$

$$(-9)^{(-1)} + (-4) =$$

$$(-1)^2 + 2 =$$

$$(-1)^2 - (-8) =$$

$$(-7)^{(-2)} - (-6) =$$

$$5^2 + 2 =$$

$$10^{(-2)} + (-1) =$$

$$8 + 3 =$$

$$(-7)^2 + (-8) =$$

$$(-3)^{(-2)} + 6 =$$

$$8^{(-2)} - (-5) =$$

$$6^{(-1)} - 5 =$$

$$(-1)^{(-2)} + (-6) =$$

$$(-5)^2 + 1 =$$

$$9^{(-2)} + (-2) =$$



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$4^{(-2)} - (-1) = \frac{17}{16} = 1\frac{1}{16}$$

$$(-2)^2 - 4 = 0$$

$$(-2)^2 - 10 = (-6)$$

$$9^2 + 4 = 85$$

$$(-9)^{(-2)} - (-8) = \frac{649}{81} = 8\frac{1}{81}$$

$$(-10)^{(-1)} - 1 = \left(-\frac{11}{10}\right) = \left(-1\frac{1}{10}\right)$$

$$(-9)^{(-1)} + (-4) = \left(-\frac{37}{9}\right) = \left(-4\frac{1}{9}\right)$$

$$(-1)^2 + 2 = 3$$

$$(-1)^2 - (-8) = 9$$

$$(-7)^{(-2)} - (-6) = \frac{295}{49} = 6\frac{1}{49}$$

$$5^2 + 2 = 27$$

$$10^{(-2)} + (-1) = \left(-\frac{99}{100}\right)$$

$$8 + 3 = 11$$

$$(-7)^2 + (-8) = 41$$

$$(-3)^{(-2)} + 6 = \frac{55}{9} = 6\frac{1}{9}$$

$$8^{(-2)} - (-5) = \frac{321}{64} = 5\frac{1}{64}$$

$$6^{(-1)} - 5 = \left(-\frac{29}{6}\right) = \left(-4\frac{5}{6}\right)$$

$$(-1)^{(-2)} + (-6) = (-5)$$

$$(-5)^2 + 1 = 26$$

$$9^{(-2)} + (-2) = \left(-\frac{161}{81}\right) = \left(-1\frac{80}{81}\right)$$